Truuty Glass

INTERNATIONA AL
4621 192nd STREET EAST TACOMA, WA 98446

60X 68
GLAZED PREMIUM FIBERGLASS

DOUBLE DOOR WITH SIDELITES (BOXED)

INSWING / OUTSWING
"NON-IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

- 1200\pf1122\D. RWBC Drawings\TX-595\TX-595.dwg, TX-595

The Trinity Glozed Premium Fiberglass Double Door with boxed sidelites described herein complies
with the 2006 International Residential Code (IRC), Sections R301 & R413 and the 2006 Intemational
Building Code (IBC), Sections 1405.12, 1609, 1714.5, 2403 and 2404 (including Texas revisions) subject
to the following conditions:

Anchors shall be as listed and spaced as shown in the details. Anchor embedment to base
material shall be beyond wall dressing or stucco.

When used in areas requiring wind-bome debris protection this product is required to be
protected with an impact resistant covering that complies with Section R301.2.1.2 of the IRC
and Section 1609.1.2 of the IBC.

Allowable design pressure requirernents must be equal to or less than the design pressure rafing
shown in the design pressure charl, sheet 1 of this drawing.

Conditions not covered by this drawing are subject to further engineering analysis.

SUPPORTING DOCUMENTS & EVIDENCE

Testing per ASTM E330-02 as performed by Testing Evaluation Laboratories Inc. and reporled in
test report numbers TEL 08-01370020, TEL 06-0223-3, TEL 05-0411-4 and TEL 05-0411-6, signed by
Wendel W. Haney, P.E.

Calculations (Anchoring and Glass load resistance report ASTM E1300-04) prepared by Lyndon
F. Schmidt, P.E.

Cerlificate of Participation issued by the National Accreditation and Management Institute,
Inc.. certifying that Trinity Glass Int'l is manufacturing products within a Quality Assurance

program.

B1.88" MAX, FRAME HEIGHT

TABLE OF CONTENTS

SHEET# | DESCRIPTION

] Typical elevations, design pressures & general notes

Door ponel construction details & glozing details

Sidelite panel construction details & glazing details

Harizontal cross sections

Vertical cross seclions

Frame anchoring

Components

2
3
4
3
& Vertical cross sections
7
8
ki

Endura astragol defails

10 Trinity astragal details

11 PVC astragal details

12 Columbia astrogal details

13 Bill of materials

a0 b
Soxris] NEE ¢
Sl =
S Ji= g Bd
] gy Y e guﬁ im 87
‘,"'.;' 3 Nt S0 E g I.n'.
gu; P “ @
;aeﬁ;m; fy 4if e
5 iz «
B B B i s
105.00" MAX. O.A. FRAME WIDTH - ‘5;;:;;?-.,_ 27 324 E %
74.00" DOORS FRAME WIDTH ————== I'l; =5 s g ﬁ =
15,50 SID s @ j &
E ELITE oo - e a g b
FRAME WIDTH E Eag S
8 =2cf B
a o o gé
n | 5
PR f
I _,."-: g
1
- Uy
=i
(]
| .-é ﬁ =
= | Sz
[ =
I o x I @H 5 %é
°F (o @
O f ﬁ o
22 [458
=5 | 7]
oI & |5 &4
8| « =
& o
I 2=k
=
Nz
o}
DOUBLE with BOXED SIDELITES z|2
g gl |
: 25| B
AL MAX. GlAss | DESIGN PRESSURE PSF) E'@ %
Al SWING DIMENSION | TYPE | POSIIVE | NEGATIVE gI8| &
INSWING 105.00" x 81.88" +45.0 -50.0 E'Q
ENDURA Gl 5[
OUTSWING | 105.00" x 80.75" +45.0 -45.0 alg
M=l
INSWING | 105.00" x 81.88" +550 | -55.0 NE
TRC Gl i
OUTSWING | 105.00" x 80.75" +550 | -55.0 R I
lowre: 8/26,/05
INSWING 105.00" x 81.88" +43.0 -47.0 SCALE:  N.T.S.
PVC Gl owe. Bv: | EW
OUTSWING | 105.00" x 80.75" +43.0 -43.0 cHK. B:  LFS
DRAWING MO.:
COLUMBIA OUTSWING 105.00" x 80.75" Gl +50.0 -50.0 TX=595
sHEET _1 oF 13

R:\A - Projects\Project Folders\Proj 1101

i 2009 R.W, BULDING COMBULTAMNTS NG



OM| SLNTLINGNOD ONIOTNE "M'E G00Z 0

ZHELI—d # NOUVULSIOZY 40 JLVOLILM3D SIVIIO ONIZYTO ONV STIVIIa = SNOISIAZY :
D o M3 | FHNIVIONIWON 1354007 03SIA3Y| 90,/82/9 | | N :w.. Ll o
S85EC 14 O9UIDA 0CZ XoB d.gmﬁ ATBNISSV 90 1vd [ v [34vadn NOUYNTVAZ 10ndodd 1ai|60/ce/z | 2 | S|’ , B 5
“ONI SINYLINSNOD SNIgIN ™~ al =2 g 2_
SSY1O438Id JLN4T WNINESd ol |E|E [
CZIFOLF "I'd SWEL TANI SSVI9 ALINIML ] M ] m m
I'd Pluyes 4 wepudy i peundelry sjuswnseg S1INA0M & m il
ol-9-
0L
O
=
z

COMPOSITE
2
\2/

VERTICAL CROSS SECTION

RAIL

PVC

hy
- 595 \l_l\ 05 S S

o
- SL91 -

7. ;
AR )

.W.\\\\...\\\\\r Pt
7

v

o

2 g NN
] ¥ ;22 §2 A\
b T — < — 0 T =0 |
= O FT | 1
m 7y /7/ LFQ ]
M :
- ®
— 907 ——y m
E o
r .. 8 3 L1
1= I}
3 Ml i : ~ L
5 11
: %Iw*
m. — £ ﬁ.
: mv 2 — = = == = =
z B 2 < I —+—] &
: W - W 2 N
s
m

DETAIL 1

4

D e
..|..11|ll Illrrr-u:
(0 0o/

SCLEE —=

x

35.75" MAX
PANEL WIDTH
P>
|
D
PREMIUM LIPLITE FIBERGLASS DOOR

b
7l O7a XYW .D0ER e

—— PVCSTILE CAP

21.00°

MAX. D.L.O.
|

£ 'GP 5a5-X L\565-XL\SbuImeIn JamM “a\eT T HA\D0ZT - 1011 (oad\ssapiod Palaud\saloug - vhid



AR HAMYLINENDOD ONIgmnNg "MH a00E [ ]

Z58ii-d # NoWnusioly 4o IwOLLED | STVIIQ ONIZYID NV STVLI SNOISIASH .
JPTmp—— i [ #3 [ SENLVIONGWON 1359001 0338 90/8z/5 | 1 |94 |F|L| ©
GESEE ™4 OOHIOA OEZ o8 ‘O' n\ﬁ\%m. ATBR3SSV 80 Idvd | v | 3Ivadn NOUVNTvAI 1oNdoud il 6o/cz/c | 2 |G| 3 5
“aN| SINVLINSHNOD SNIGTIN . g J_
SSVY1943814 LT WniNIdd ool =
513
3

DRAWING M.

;

DWG. B
CHK. BY:

czivoLf ‘Id SYAL TANI SSWI9 ALINIML
‘F'd Plyss 4 wepudy 1ig poJndesg mBjuBWINGO 1ON00Nd

INTERIOR

I
o

138

i
//
i

A R §

o i T
f/f!ff!ﬂﬂ_ L L
A
o

EXTERIOR

("2 VERTICAL CROSS SECTION

r—» 1.56 4-‘
@@ TOP & BOTTOM RAIL
SIDELNE

LWL STILE —/

AlR SPACE

o
-

%ﬁf/ﬂ.{fd =

— 1/8" TEMPERED

T 1/8' TEMPERED
GLASS

,‘» 1" O.A, THK GLASS

1...“ 1.‘.“-‘..".-?\
AR, e 1 A

SRS mi //

=

. o 1\

\ m_ @ * 96— m
s gf o =0 i |
| 2 . 29 s = 2

W S = %

: = g
: m ¢ @ 1

O

=
—

P
OTA XVW00EY —————————=

P
£
PREMIUM LIPLITE FIBERGLASS SIDELITE

6.84"

MAX. D.LO.
|

13.88" MAX,

PANEL WIDTH

IHOBAH TNYd XYW .ST°6L

£ 'BmprsE5-K1\S65-X1\sBumeld Jamy ‘aEZT LIDOZT - 1011 [Bid\srp|od Pelodd\siaalind - vi



NOTE:

2 Y 3

] ]

5

1. Sidelite ass'y fastener: &' from each end and 4

more screws equally spoced between (& screws

total per jamb).

DRYWALL
//_

fa

09

EXTERIOR

\— EXT, SHEATHING

LOCK & DEADBOLT RATINGS CHART e J
MAX. DESIGN PRESSURE S it el 3
[N £ iE |
MANUFACTURER MODEL TEM # }——— £ A R I
POSITIVE | NEGATIVE T %
LOCK: 740 21 -;D'g :
- Pt = ;
e DEADBOLT: 780 22 +55.0 35.0 ‘f;ﬁ}.,_ 0
i, IZE
Lock: COMBO 660 | 21 g
KWIKSET + : n i
DEADBOLT: COMBO &40 | 22 55.0 55.0 Mpaadanst™
LOCK:  MAX.SECURITY | 21
SCHLAGE | ADBOLT: MAX. SECURITY | 22 +35.0 | -550 i
e (CSIME
(TYP.)

INTERIOR

/"5 "\ HORIZONTAL CROSS SECTION

‘.\i/ Columbia astragal

*\

ol NI

\

\fz"

\\/f;f |

|I|
!

. "'V -

%
%

®
(19

.@

:"4'

@ EXTERIOR

/"6 "\ HORIZONTAL CROSS SECTION

W Outswing shown
Inswing ako approved

INTERIOR

Documants Fraparsd By: Lyndon F. Schmidt. P.E.

TEXAS P.E. §104123

P.0. Box 230 Valrleo FL. 33585

Phona Meo.: B813.858.8187

BUILDING CONSULTANTS, INC.

Ry

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION § F—11852

PRODUCT:

TRINITY GLASS INT'L

FREMIUM LIPLITE FIBERGLASS

PART OR ASSEMBLY:

HORIZONTAL CROSS SECTIONS

i

REVISIONS

7/23/09 |TDI PRODUCT EVALUATION UPDATE | AL

R:\A - Projects\Project Folders\Proj 1101 - 12004pf1122\D. RWEC Drawings\TX-595\TX-595.dwg, 4

SEE @ EDLE. . N. Tl;:i.r
L @ EXTERIOR e
/I\ HORIZOMTAL CROSS SECTION "2\ HORIZONTAL CROSS SECTION /3 \ HORIZONTAL CROSS SECTION {4\ HORIZONTAL CROSS SECTION ™5, .
Inswing akso approved \ 4/ Enduro astragal \_4_/ TRC asiragal \4_/PVC asogal s

ﬂ“] 2009 R.'W. BuiLDiNG COMBULTAMTE IME.



220NNy, 3 ﬁﬂ
Serint J Wy g3 .
s n il .:'..f':_\l‘?:"“:% -fﬁ"‘.'f:'?vf;{‘ 2 %.E. a ﬁ
| o wit It
EXT. SHEATHING \ f EXTERIOR INTERIOR "’f:ﬁ;-_.,_ 8 78 5 : gﬁ EE
' . \g G wuis el Bog
! | V o WOOD fﬂn{{ﬁ.\iﬁ.::’-‘ & g % E§ E
1l CONCRETE : 4% by
. e f g% ¢ o
. W 2 @ * P
—© @) : gt
! AN/ :E:'ifz_m e e & g“
— g i
12 4 \ 3| ¢
' /, N ; Z Eﬁ E
EXTERIOR % | INTERIOR g | o
o5 |z &
VERTICAL CROSS SECTION ( E a VERTICAL CROSS SECTION .‘:é I
Quiswing shown Outswing configuration == § 4
Inswing also approved & E%‘ i E
3 £ |2
g 2
2|5
- \ L f L El
EXTERIOR [/ INTERIOR HE
EXTERIOR \ INTERIOR 2 %
- V (K 5 IE § lin
Siz| =
2 =
4 P, S §_J =
(=]
| S Bl
——8[ : e | Bt 3|8
N T RS, : N ARRLE R R R SIS
o Ok T Wt N W T \-\\\_ N \ = B NN R_\ b o . ﬁglp&
NN ‘\‘\ b NN = \\Q\\ RONGRECN % N
Ny SN :
\ ‘SNNNRRNNN NTE
7 twrE: 8,/26,/05
souE: N.T.S.
(3 "\ VERTICAL CROSS SECTION . VERTICAL CROSS SECTION R
\y Cutswing configurafion “ Inswing configuration e
TX—595
sweer _5_oF 13

R:\A - Projects\Project Folders\Proj 1101 - 12004pf1122\D. RWBC DEHngs\TM-S?E\TH-EQS.dW& 5

q‘-’."ﬂﬂl:l'; R.W. BULDING CONSULTAMTS ING.



ui
ey
—F”N:\:?ﬁ“‘it E g3 ot
~ SR Q5 boly  MEZ 2 E"
S IEi%0 |8 § 27
: ~ Z IEP NBY% |4y ¢R 8T
Zuidrilio a59 [« Zap G-
, igKie® ead |, 65 23
EXT. SHEATHING ; DRYWALL gwi VI & S 83 33
_\- ,/- EXTERIOR ,, INTERIOR '@*&,‘}\ i &8 ga fg"?% ﬁE
Tl %}*'-E;‘gi::'?;éﬁ:?; 1'5' §EE 2
g Fo @ Qe LSRR
| | . -1
il =] (88) NOTET 79 concrere 2 3.8 o
o%E .\" | ' E o & §§
MNOTE 1 . L
d o (| 2
:_.1
NN =8 | &
EXTERIOR INTERIOR §§ .3
= ©
(i) @ &
/ 1"\ VERTICAL CROSS SECTION ("2 VERTICAL CROSS SECTION = E =
\&/ NOTE: L8/ fmno Ak
6l = |g =
. Screws thru head and sl g % ; £
jomb located 3" from each g Fos
end and on center line,
EXTERIOR INTERIOR <z
=
g
EXTERIOR INTERIOR 2
(=]
=
SER
el B
NOTE | g gl [
Bl 8l
=l g E
SN P ) CONCRETE NN
N\ E
oate: 8/26,/05
scae:  N.T.S,
3N [ =
3 \ VERTICAL CROSS SECTION 4 "\ VERTICAL CROSS SECTION
\_5/ Qutswing sill - high dam \f/ inswing sl m: - LFS
TX—595
sHEer B oF 13

R:yA - Projects\Project Folders\Proj 1101 - 12004pf1122\D. RWBC Drawings\TX-595\T%-595 dwg, &

f-_" 2009 R.W. BUILDINGE COMBULTAKNTE M.



L1 1

A ‘."\\.

@ VIEW A-A

Astragal strike @ heod

VIEW B-B
Astragal strike @ sill

HINGE DETAIL 2

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

55 |—~

STRIKE \

2% FRAMING TO BE DESIGNED
BY THE ENGINEER OR ARCHITECT
OF RECORD BASED ON WIND LOADS N
AND THE CLADDING BEING USED. H _
SEE HINGE — £ [T
DETAIL | == = |
. i -
in % |
2 I_ | | LL 1 93l | -l | 1 _l 1
T EZ Y~ e, | X
JAMBS L A —
: & HEAD .
s 2X FRAMING / iy ] A il i |
5d [l
¥ ® | ®
| I 1
| _\ Il (s
1 7 | g E
H | ASTRAGAL g 0
DOOR -~ < N - SHOWN FOR s =5
f FRAME LOCATION REF. !
SEE J I ONLY
/ P
HINGE —~{ P. [
DETAIL2 JAMBS I TYP.
- - o WOOD | s — || JAMBS
‘\ o CONCRETE ||
-LJ| FLOOR SUBSTRATE MATERIAL B
C-Hedl | coNCReTE (MiN. 3000 PSI)
WOOD (5.G. >= 0.42) = = ' ! o= =
2007 e
HINGE JAMB FRAME ANCHORING
Stud construction ASTRAGAL

LI &

HINGE DETAIL 1

&h”
O
Ly
W 'a
STRIKE PLATE DETAIL
Astragal

813.659.0187

P.O. Bex 230 Valrico FL. 33595

Phone Mo.:

UILDING COMSULTANTS, INC.

R

Docurnenta Prepared By:

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F-—11852

TRINITY GLASS INT'L

PREMIUM LIPLITE FIBERGLASS

PRODUCT:

FRAME ANCHORING

7/23/08 |TDI PRODUCT EVALUATION UPDATE| AL | PART OR ASSEMBLY:

6/28/06 |REVISED LOCKSET NOMENCLATURE | EW

[
S

e
————t -

2
1

-
=

REVISIONS

e 8/26/05

SCALE:  N.T.5.

DWG. BY:

EW

CHKE. BY:

LFs

DRAWING HO.:
TX—595

seer 7 or 13

R:\A - Projects\Project Folders\Proj 1101 - 12004pf1122\D. RWBC Drawings\TX-595\TX-595.dwg, 7

2009 R.W. BUILDING CONBULTANTS INE.



IR BAMYALAINENOD OMIOTINE "M'H 6008 [ ]

DR A Ao, 5 s ST Ton
M 4 | A in y
R e S M3 | UNIVIONSNON 1353001 03s138| 90/82/9 | 1 |Q|u|E (]| w0 2
SESEE M4 ©OUIBA DEZ *og 'O'd \M\S&. AWBAISSY 0 IHvd | v | 31v0dn NOLVIIWAS 10n00¥d 101| 60/52/¢ [ Z | & m Ln|s
"ONI ‘SINVLINSNOD ONIAING il Aot 10 I 8_
SEYTIM3IEL JINJT WNINFud w &5 B
EZLPOLF '3'd SVXAL TANI SSY1D ALINIML a b
I'd PIUYSS ‘4 uopudl g pedndesy sjuewnsog A12NQ0ud & m m
=ﬁm_.._. |_|l| ll_
|
.D:
o
¥ |
mm m _ )
= )
3 (]| |e]
o~
/
| 800 —f—e]
e =11
Iﬂl %

i

L

454" ———————=—

I

porAl

ooo SIDE & HEAD JAMBS

1.99" —=f

398"

3
CER

SIDELITE SPA
Inswing

O,

— o ——

@ HINGE

SCALE: NONE

SILLKEY, LEFT

—

i
+

— 22¢"
3
o

4

456"

&

mw
5
()

—=— |0

457"

@ INSWING THRESHOLD

OUTSWING THRESHOLD

High-dam ophion

o ILLKEY DETAILS
Optional

o DOOR BOTTO WEEP

00| _II

— |

— 457

OUTSWING THRESHOLD

8 "DMp s65-XL\565-K1\sEumeIa DM “ahe T LIE\DOZT - 1011 fosdissepiod pelosgisimalon - viid




"IN BLNTLMENDD OMIOTNE TN E00EZ ()

EGELL—d § NOUVHLISIORM 40 IUVDHLEED — SNOISIAJY - .
SHIINIONT TWMNOISS3H0Hd 40 OuYOE SvxalL SUVIIO TYOvHLSY VHNONI A8 31¥d [ON ﬁ . i _U_
P — M3 | SUNLVIONINON 1354007 03SIA3H| 90/82/3 | | of4 Slul w
SESET “14 OUIOA 0£Z XO@ '0'd \5@. ATBN3SSV HO I¥Vd | v | 3ivddn NOLVAVAI 1Ondowd 101l 60/sz/c |z | |5 .08
"INI SINVLINSNOD SNITTING - 4 HIAGN Wa..._ gl s 2 u_a, 9_
mg |
cZIrOLf 'I'd SwWxEL m.wﬁ___..._ .w%&m E_Q_E‘.D i m . m m
Fd PSS 4 uopud) g pedodesy syuswinoog L2NA0Hd 8 m m
o).
P ﬂn"mwﬂw
e Qﬁm..u._. HN
E
S EEY,
Z37 cuvor N9
% 1aiwH9s 3 NONALZ
R irg
x____q.a..... % ot 3
Nﬁh&m&vh..::....._......_..1.__mf”w.zmwh.mw| .m e m
318 2% A gls
1y B il | =
T * 25 1 MW
— | &
R et
: 2 gld &%
— mH = ”m
| A | I
L& A
050 —=— L850 T
woLog
~ 3
| el
RS | S| l
| ) * )
2 |
&
.
| &
_ | 3
s JH 1 @ Bi .
2 o 59T — &
0 mw 48
g . & mm
2 & — 3
- = - S
& 8 L =
< = = Sia
= 0 I =&
& 3 :
k.4 =
. | Nk
= &5
o =
% : m
w 5
115 ﬁ; E 5
I T <
B B Qo
[+
k o - :
<
=
| \0 * ﬂ 2>
g =
¥ = =
55 0
0
i
(@]
b
=
I
=
- ||| | E— AN =
0 _ .||JIT
5 I |
< O
i a
. N
- Q|8
%7 HM
& ; 52
J 3
S o
) 2
o
= T L
.
1 1 i
* 1
in [n
A LN
™Moo —
S V-
401

6 ‘B ges-x1\Ses- X1 \sbumeig Jamy ‘ahzzt d\0z1 - 1011 foid\siapiod Paloud\soalosd - v



OMl BLAMNYLINENOD aMIONg "M'H 6002 .“.H

zogll—4 § znwém_uuz 40 w_m...mnwmnﬁu B SNOISIASY T TON
SHIINIDNZ TVNOISSI40ud 40 O SvxEL uwy Lo
O ——— SR BN AN M3 [ SHNIVIONIHON 135%007 a3siad| 90/8e/0 | | |19|4(F[L| w 2]
SESEC 14 O9UIDA OFZ X8 'O'd \\E@m. ATBN3SSY ¥0 W¥vd | v |3Uv0dn NOUVNTVAI 1oNdo¥d Idi|6o/sz/z| 2 | M |8
"ON| SINVLINSNOD oMITING 5 1124 m_
SSY19M3814 3L WNINTNd W |Elgle B
czivoLf Td Swal T.ANI SS¥19 ALINRML p m $ m m
Id Ppuyes "4 wopwdl g pesodesy syuewnsog 12NA0Hd 3 m &
0r-9-/
o \
%txwwsﬁ__fr,”-....mva.w.m Zl.w._nw._._.u. +-u..-vﬁ._. o d @_
_.._-.. ....._.ﬂn.
m........e _EZLHOL ....?m
RLLLLE L L DT Py o
2 LAIWHOS 3 NOGNAT 2 =
G =
ﬁw ¥ .._... ;...-.q.i..m.h H.H
.ﬂ.umnm.__b..“_fu ....#..Yﬂu.lﬂk _ ._.In.-
N -W_.h..._..:.__.-_.....m.__.f }ﬂ...l_....._ I
R WI ﬁ m
T =
| £z
WoLosg
|
| b (B) 5
g 2
& a
. <
@l5
o 28
S B2
e
I E
: :
E E
o
| —
= (]
3 S
o
| 5
i M
e, 2
2 It}
=
B
—
- — =1
gl 3° T
=
=
3
b
e ©
| E-]
O
i [
u :
(4
B
=
_ = g
2 &
o S
m ol e
| ey
|-
N 5l
! =5
~ =
i L
g N
s
L
| == 1
8 s SO |
& 99 - gy
dOl

D1 ‘B SE5-X1\565-KL\SOUMEI] DJEMY ‘OVZCT LJAW00ZT - 1011 Iid\siap|o] Paloid\sialold - it



OM| BANTLINENDOD OMOTNE "M 00 _p..“..

umw:_uum § NOLVMISIOSY 40 IUVOLLULNID 5 szmEmm ST
SHIINI TYNOISS2I08d 40 CHVOE SwxaEl | _AH |
R — W0 WEAoY: W #3 [ SHNIVIONIWON 555001 a3svad| 90/8e/a | | |9|4(E|L| w 2
SBSEE 14 OMUIDA OFZ Xo8 ‘O'd g@. PATHNESSY MO 1dvd | v | 31v0dN NOUVNTVAI 1ONJ0Yd I0L| 60/c2/L | Z © M A
“ONI ‘SINVAIINSNGD ONITING — e N £l 5 mw_m H_
CZTIFOLF 34 SvaaElL MW.E%FW&_H Ea_@.h‘ _._l__ m 3 B m m
Fd IPRlySg 4 Uepudy Ag peJodesy syuswnoog LANa0Ed & m M %
ore -}
,ﬂ.ﬂﬁ&_ﬂ 7304 HN
- ...Hm_n:.u .-r.u__ .._J._N
e st U
S0 R b
FEIT R oNeY
gmi bty
R T S ol - GLB — _
.w 5 _.__xﬂ_ o j o 'I_ _ln
e - i
.u_ _,v...n.u._.._“_.__. %‘ ..../uw...m..»
....._.__mm”. h..m.r__”. :.H:mm. ‘._Wn.u.. m
Wi o =
b3
2
U
WoLos um
2
m_ﬂ.
=B
| : O,
o L
&
=
&
4 iy
| | 2. ; ¥ [ | I
_ =
- b
=
L
e g
! i
_ = o .l..._m
3 I b S
* (A
— o] % ; E
3z 32
e
_. ®
— g &°
m :
o,
diNE |
w 0 S — L
LE] IEJ. I-.m _lll __Wm_.._
. Q . | = e95
=
e
o
=
= &)
-
Q z
>
0 i
3 3 92
L
B . é.lu B
<
/ | =
& <
im
o4
S " 2
_l|..m_hm.m. - | L]
1 m
i =
m 3 off
| —r ® - S
| 1 1 |+. m
.
oD
diod

11 BMp 56511565 XL\SOUMEIQ J8/ME ‘O\ZZ1 19\00ZT - 1011 [oid\aapiod Palosd\sioaiodd - vy



"INl BEANYLIMNSNOO 9NIOTINE "M H .m-D_UN_J..n_

mmwmh___rﬂ u.zuﬁ._.uﬂunzu L.munw&:ﬁ..m_mﬁmcﬁ_. PE L 41%3 [ON
WOVHLISY "
G R SR B L vIBNM109 M3 | FHALYTININON 1354307 a351A34 mc\mm\m i z:ﬂu“ 5_ W N.._ % 1._
SEEEE 4 OoUIDA OFZ ¥oE d,_m.su@. ATEN3SSY HO 18vd | Ty [ 31v0dn NOLYNTYAI L2Naoyd 1dL| 60/€2/¢ | € ©° _.IM . B8
DNl 'SINVLINSHOD SNITINg 8 38 S N M.f £le g Ln mm_
md._m_ g =
CZiv0Lf F'd SWXEL ANI _.w,mum____w ALINIEL MEIr - m
‘T'd WPIYSS 4 uopuky  Ag pesodesy sjuBLINGOg lonaosd z £ x02
wouos
S =
@e1s — s
; ot -
RIERES i gn i * _ # =
+ s a
~ -
Tl 5
| - g
. - ==
=
bl
i 5 (3)
=~
I
i o
]
L] ﬂ -
o
O
b
&
= i g
T = g
- ) =g
C 7 |B [
T _ m wr.. e : ._rm...m
. ...(J @ m * L T rd A=y
T S0
] ~0
” i u M n w
oH—— . [T
2 | £
_ . mm
5 4 32
B E
3
L L] =
Ly = o]
0 ? "
. = 2
| & m
=
oo M T
S 28
) =<
z E
o %
- :
L~ =
L] h Im -
SR gum— %!
| 3
It_._ S| s <
| | L1 0§
. ] |2
ﬁ | | ® 3
| vl 5 Ww
L _ ) -
- * * i : @
o | A\
i - S

§

a-a

Z1 'BMP 565-X1\565-XL\SOUIMEI] DAY ‘\ZZ 1 LIOVO0ZE - 1011 [0d\SIapiod aleId\s1ai0ad - Vi



CONCRETE ANCHOR NOTES:

. Substitution of equal concrete anchors from a different supplier may have different 23
edge distance and cenler distance requirements. oSy, g3 g
2. Concrete anchor locations at the comers may be adjusted to maintain the min. S *E.i -.f?ﬁ;‘i;r Ex 5 ﬁg
edge distance to mortar joints. If concrete anchor locations noted as "MAX. ON Fer 121 ™ Sy g8 &7
CENTER" must be adjusted fo maintain the min. edge distance fo morfar joints, g7 olg %ogl ek Lab Oc
additional concrete anchors may be required to ensure the "MAX. ON CENTER" ?: % w "é E‘ 3 § g g 8a 3
dimensions are not exceeded. 2oL Vizi® s 5" 53 4 28
3. Concrete anchor table: %\}:’k-"—. EE%EL Py % : g EE
ANCHOR | ANCHOR MIN. MIN. CLEARANCE TO | MIN. CLEARANCE TO "’fg""‘h e “,E"‘M § ud b
TYPE SIZE | EMBEDMENT | MASONRY EDGE | ADJACENT ANCHOR i = i E Sy
3 Q
mw 3/16" 1-3/4" 2-5/8" 2-1/4" g G 2%
: =
ELCO 316" 1-3/4" 1 ¥ E x gu
BILL OF MATERIALS
ITEM| DESCRIPTION MATERIAL | ITEM| DESCRIPTION MATERIAL W
A_| 2X HEADER FRAMING SG >= 0.42 WOOD 40_| #8 X 1-1/8" SELF THREADING SCREW STEEL <
B | 2X FRAMING SG >=0.42 WOOD 47 | ALUMINUM & BUTYL SPACER SYSTEM ALUM./BUTYL = %)
G | MAX. 1/4" SHIM SPACE WOOD 44 | HOT MELT SEALANT / SILICONE - ~a &
|| 3/16" X 2-1/4" TW PFH CONCRETE SCREW STEEL 45 | LITE FRAME PC/ASA ﬁw y g
J | #10X 3" PFH WS STEEL 45 |FOAM CORE POLYURETHANE a5 |2
K | #9 X 2'PFH WS STEEL 50 | FLUSHBOLT BAR STEEL >3 |3 S
L | #8X2-1/2'PFH WS STEEL 51 | 4-3/4" LENGTH TOP BOLT RETAINER HDPE Z= |9
P | 3/16"X 2-3/4" ELCO OR ITW PFH CONCRETE SCREW STEEL 52 | 9-3/4" LENGTH TOP BOLT RETAINER ALUMINUM BN sl
Q |3/16"X 3-1/4" TW CONCRETE SCREW STEEL 53 | #8 X 1-3/4" FPH SMS STEEL 3l &
1| SIDELITE JAMB - FINGER-JOINT PINE - SG >= 0.42 WOOD 54 | ASTRAGAL STRIKE @ HEAD STEEL g '.;5
3 | HINGE JAMB - FINGER-JOINT PINE - 5G >= 0.42 WOOD 55 | ASTRAGAL BY ENDURA PRODUCT ALUMINUM -]
4 | HEAD - FINGER-JOINT PINE - SG >= 0.42 WOOD 56 | ASTRAGAL STRIKE @ SILL STEEL oo
5 | INSWING THRESHOLD ALUMINUM W/ COMPOSITE SUBSTRATE ALUMINUM | 57 |SLIDE BOLTROD STEEL il
4 | DOOR BOTTOM SWEEP PVC 58 | ASTRAGAL BY TRC ALUMINUM 8 2
7 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS - 59 | ASTRAGAL CHANNEL BY TRC ALUMINUM e 2
8 | #6 X 1-1/4" PFH DRYWALL SCREW STEEL 60 | SIDELITE SPACER - OUTSWING PVC 15|@
12 | WEATHER STRIP QEBD650 Q-LON : &1 | SIDELITE SPACER - INSWING PVC 52| £
18 | 3.983" X 4.0"HINGE MIN 0.098" THICK STEEL 62 | QUARTER ROUND WOOD g b 2
19 | SILLKEY PC/ASA 63 | #8 X 2-1/4" PFH SCREW STEEL 518 =
21 | LOCK (SEE LOCK & DEADBOLT RATINGS CHART) STEEL 65 | #10 X 2" PFH SCREW STEEL 23| [
22 | DEADBOLT (SEE LOCK & DEADBOLT RATINGS CHART] STEEL 64 | SIDELITE PANEL - SEE SIDELITE PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS : S 8
23 | STRIKE PLATE STEEL 67 | PVC ASTRAGAL BY TRC PVC hel .
23A | DEADBOLT PLATE STEEL 68 | ASTRAGAL CHANNEL BY TRC DIE CAST ZINC Bl
24 | #9 X 5/8" PFH SCREW STEEL 69 | #8 X 2" PFH SCREW DIE CAST ZINC E,% L
25 | OUTSWING HIGH-DAM THRESHOLD ALUMINUM W/ COMPOSITE SUBSTRATE ALUM./ COMP. | 73 | LVL SIDELITE TOP RAIL (FULL LITE] POPLAR RIS
26 | #9 X 1" PFH SCREW STEEL 74 |LVL SIDELITE BOTTOM RAIL {FULL LITE) POPLAR NR
27 | OUTSWING THRESHOLD ALUMINUM W/ COMPOSITE SUBSTRATE ALUM./ COMP. | 75 | LVL SIDELITE STILE [FULL LITE) POPLAR ~|-[S
30 [LATCH STILE - SG >= 0.42 [VL/PVC | 80 | EXTRUDED ALUMINUM ASTRAGAL BY COLUMBIA ALUM, PROD. ALUMINUM e B,726/05
31 | LVLLOCK BLOCK POPLAR | 81 | #8X2-1/2' PFH WS STEEL S
32 | HINGE STILE - SG >= 0.42 LVL/PVC 82 | TOP FLUSHBOLT RETAINER 6063-T5 ALUM. /STEEL e
33 | TOP RAIL - POPLAR LVL & WPC COMBINATION POPLAR/WPC | 83 | BOTTOM FLUSHBOLT RETAINER 6063-T5 ALUM. /STEEL
34| BOTTOM RAIL - POPLAR LVL & WPC COMBINATION _ POPLAR/WPC | 84 | 5/16"@ X 20" LONG FLUSHBOLT ROD STEEL bl i -
39 | FIBERGLASS SKIN 0.079" MIN, THICKNESS [Fy = 5,203 PSI MIN.} FIBERGLASS TX—505
sHEET 13 of 13

Ri\A - Projects\Project Folders\Proj 1101 - 1200ypF1122\D. RWBC Drawings\TX-595\TX-595.dwg, 13

lﬂ." 2009 AW, BuiLDiMNG DOMSULTAMTS |,



